Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

3670

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Firm Name:

Bidder:

Newport Construction Corporation

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.133	PROJECT OFFICE	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0170.101	MOBILIZATION	FP	1	\$264,292.36	\$264,292.36	\$264,292.36	\$264,292.36	\$0.00	\$0.00
0211.013	REMOVAL AND DISPOSAL OF ASPHALT PAVEMENT AT PLATFORM AND SIDEWALK LOCATIONS	SY	40	\$113.92	\$4,556.80	\$185.00	\$7,400.00	\$71.08	\$2,843.20
0211.430	UTILITY STRUCTURE ADJUSTED	EA	16	\$1,130.50	\$18,088.00	\$2,285.00	\$36,560.00	\$1,154.50	\$18,472.00
0211.495	SITE UTILITIES	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0211.610	PEDESTRIAN RAMP	SY	500	\$234.20	\$117,100.00	\$1,885.00	\$942,500.00	\$1,650.80	\$825,400.00
0212.147	TRANSPORTATION & DISPOSAL OF HAZARDOUS MATERIALS	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Engi	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0216.120	1.5" PAVEMENT MILLING	SY	3,850	\$23.44	\$90,244.00	\$28.85	\$111,072.50	\$5.41	\$20,828.50
0221.052	SILT SACK	EA	80	\$248.82	\$19,905.60	\$1.00	\$80.00	(\$247.82)	(\$19,825.60)
0222.003	UNCLASSIFIED EXCAVATION	CY	800	\$105.99	\$84,792.00	\$100.00	\$80,000.00	(\$5.99)	(\$4,792.00)
0222.442	TEST PITS	CY	200	\$252.32	\$50,464.00	\$0.01	\$2.00	(\$252.31)	(\$50,462.00)
0222.501	ORDINARY BORROW	СҮ	60	\$38.96	\$2,337.60	\$15.00	\$900.00	(\$23.96)	(\$1,437.60)
0222.504	GRAVEL BORROW	CY	340	\$116.62	\$39,650.80	\$295.00	\$100,300.00	\$178.38	\$60,649.20
0222.522	PRECAST DRAIN MANHOLE	EA	8	\$5,105.12	\$40,840.96	\$4,000.00	\$32,000.00	(\$1,105.12)	(\$8,840.96)
0222.530	CATCH BASIN OR MANHOLE CHANGE IN TYPE	EA	8	\$1,639.62	\$13,116.96	\$1,000.00	\$8,000.00	(\$639.62)	(\$5,116.96)
0222.531	CATCH BASIN OR MANHOLE REMODELED	EA	8	\$1,640.25	\$13,122.00	\$1,885.00	\$15,080.00	\$244.75	\$1,958.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 3670

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.542	FRAMES AND GRATES OR COVERS REMOVE AND RESET	EA	16	\$964.62	\$15,433.92	\$2,285.00	\$36,560.00	\$1,320.38	\$21,126.08
0222.550	LOAM BORROW	CY	80	\$127.18	\$10,174.40	\$365.00	\$29,200.00	\$237.82	\$19,025.60
0222.628	CRUSHED STONE	CY	100	\$74.17	\$7,417.00	\$50.00	\$5,000.00	(\$24.17)	(\$2,417.00)
0227.010	FLOWABLE FILL	CY	140	\$241.47	\$33,805.80	\$50.00	\$7,000.00	(\$191.47)	(\$26,805.80)
0234.195	BOLLARDS	EA	92	\$1,981.11	\$182,262.12	\$225.00	\$20,700.00	(\$1,756.11)	(\$161,562.12)
0242.141	RETAINING WALL - A	SF	132	\$388.43	\$51,272.76	\$85.00	\$11,220.00	(\$303.43)	(\$40,052.76)
0250.001	CLEANING DRAINAGE STRUCTURES	EA	48	\$1,006.72	\$48,322.56	\$50.00	\$2,400.00	(\$956.72)	(\$45,922.56)
0250.100	CATCH BASINS	EA	12	\$3,202.83	\$38,433.96	\$4,000.00	\$48,000.00	\$797.17	\$9,566.04
0250.985	DRAIN INLET	EA	8	\$2,022.62	\$16,180.96	\$4,000.00	\$32,000.00	\$1,977.38	\$15,819.04

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

MA

				Eng	jineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0251.776	16" DUCTILE IRON PIPE	LF	6	\$247.00	\$1,482.00	\$1,285.00	\$7,710.00	\$1,038.00	\$6,228.00
0255.100	MANHOLES MUNICIPAL STANDARD	EA	12	\$4,062.75	\$48,753.00	\$4,000.00	\$48,000.00	(\$62.75)	(\$753.00)
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	3,000	\$8.46	\$25,380.00	\$5.00	\$15,000.00	(\$3.46)	(\$10,380.00)
0261.120	SAW CUTTING CEMENT CONCRETE	LF	4,500	\$7.17	\$32,265.00	\$1.00	\$4,500.00	(\$6.17)	(\$27,765.00)
0261.180	BITUMINOUS CONCRETE PAVING-BUSWAY	TN	450	\$339.45	\$152,752.50	\$285.00	\$128,250.00	(\$54.45)	(\$24,502.50)
0261.192	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1 TOP COURSE	TN	80	\$341.52	\$27,321.60	\$585.00	\$46,800.00	\$243.48	\$19,478.40
0261.196	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 LEVELING COURSE	TN	40	\$251.57	\$10,062.80	\$585.00	\$23,400.00	\$333.43	\$13,337.20
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	200	\$268.20	\$53,640.00	\$185.00	\$37,000.00	(\$83.20)	(\$16,640.00)
0261.204	CLASS I BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 TOP COURSE - HAND OPERATION	TN	30	\$499.80	\$14,994.00	\$1,685.00	\$50,550.00	\$1,185.20	\$35,556.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

3670

Engineer: 1043

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder:

				Eng	ineer	Bi	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.331	BITUMEN FOR TACK	GL	180	\$16.18	\$2,912.40	\$78.50	\$14,130.00	\$62.32	\$11,217.60
0262.180	GRANITE CURB STRAIGHT	LF	2,000	\$99.35	\$198,700.00	\$150.00	\$300,000.00	\$50.65	\$101,300.00
0262.185	GRANITE CURB CURVED	LF	1,400	\$119.01	\$166,614.00	\$165.00	\$231,000.00	\$45.99	\$64,386.00
0262.701	CURBING - REMOVE AND RESET	LF	600	\$58.83	\$35,298.00	\$85.00	\$51,000.00	\$26.17	\$15,702.00
0262.702	CURBING - REMOVE AND STACK	LF	200	\$15.53	\$3,106.00	\$20.00	\$4,000.00	\$4.47	\$894.00
0262.720	CURBING - REMOVE AND DISCARD	LF	2,000	\$12.42	\$24,840.00	\$30.00	\$60,000.00	\$17.58	\$35,160.00
0263.015	CONCRETE SIDEWALK	SY	2,500	\$172.38	\$430,950.00	\$613.00	\$1,532,500.00	\$440.62	\$1,101,550.00
0263.116	TACTILE WARNING STRIP	SF	2,000	\$25.44	\$50,880.00	\$10.00	\$20,000.00	(\$15.44)	(\$30,880.00)
0263.118	TACTILE WARNING STRIP- CAST IRON	SF	100	\$37.01	\$3,701.00	\$200.00	\$20,000.00	\$162.99	\$16,299.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder: 3670

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

Newport Construction Corporation

				Eng	gineer	Ві	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0271.026	CHAIN LINK FENCE - REMOVE AND RESET	LF	1,500	\$22.34	\$33,510.00	\$25.00	\$37,500.00	\$2.66	\$3,990.00
0271.072	72" CHAIN LINK FENCE	LF	1,000	\$94.11	\$94,110.00	\$45.00	\$45,000.00	(\$49.11)	(\$49,110.00)
0271.110	CHAIN LINK FENCE	LF	400	\$53.71	\$21,484.00	\$45.00	\$18,000.00	(\$8.71)	(\$3,484.00)
0271.942	STEEL FENCE	LF	100	\$132.89	\$13,289.00	\$125.00	\$12,500.00	(\$7.89)	(\$789.00)
0282.150	SEEDING	SY	600	\$6.24	\$3,744.00	\$20.00	\$12,000.00	\$13.76	\$8,256.00
0282.407	SHREDDED BARK MULCH	CY	200	\$132.07	\$26,414.00	\$45.00	\$9,000.00	(\$87.07)	(\$17,414.00)
0284.100	TREES REMOVED - UNDER 24"	EA	12	\$1,354.91	\$16,258.92	\$500.00	\$6,000.00	(\$854.91)	(\$10,258.92)
0284.110	STUMPS REMOVED	EA	8	\$502.37	\$4,018.96	\$250.00	\$2,000.00	(\$252.37)	(\$2,018.96)
0290.999	GENERAL ALLOWANCE	AN	1	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

				Eng	jineer	Bio	lder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0329.950	CAST-IN-PLACE CONCRETE	CY	375	\$1,000.00	\$375,000.00	\$300.00	\$112,500.00	(\$700.00)	(\$262,500.00)
0340.140	PRECAST JERSEY BARRIER	LF	200	\$187.57	\$37,514.00	\$90.00	\$18,000.00	(\$97.57)	(\$19,514.00)
0341.401	PRECAST CONCRETE PAVERS- REMOVE AND RESET	SF	4,800	\$35.00	\$168,000.00	\$15.00	\$72,000.00	(\$20.00)	(\$96,000.00)
0348.412	12" REINFORCED CONCRETE PIPE CLASS IV	LF	900	\$182.98	\$164,682.00	\$45.00	\$40,500.00	(\$137.98)	(\$124,182.00)
0348.418	18" REINFORCED CONCRETE PIPE CLASS IV	LF	480	\$198.61	\$95,332.80	\$50.00	\$24,000.00	(\$148.61)	(\$71,332.80)
0570.001	LEANING RAIL	LF	50	\$210.00	\$10,500.00	\$285.00	\$14,250.00	\$75.00	\$3,750.00
0590.198	STEEL BEAM HIGHWAY GUARD - TYPE SS	LF	200	\$60.60	\$12,120.00	\$45.00	\$9,000.00	(\$15.60)	(\$3,120.00)
0590.202	HIGHWAY GUARD STEEL BEAM TERMINAL SECTION	EA	8	\$2,948.00	\$23,584.00	\$850.00	\$6,800.00	(\$2,098.00)	(\$16,784.00)
1040.111	TEMPORARY PAVEMENT MARKINGS	LF	1,575	\$0.73	\$1,149.75	\$0.50	\$787.50	(\$0.23)	(\$362.25)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide,

MA

				Eng	jineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.704	6" REFLECTORIZED YELLOW LINE	LF	2,250	\$1.17	\$2,632.50	\$0.50	\$1,125.00	(\$0.67)	(\$1,507.50)
1040.707	REFLECTORIZED WHITE LINE CROSSWALKS AND STOPS	SF	18,000	\$6.41	\$115,380.00	\$1.00	\$18,000.00	(\$5.41)	(\$97,380.00)
1040.738	4" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$1.46	\$3,285.00	\$3.00	\$6,750.00	\$1.54	\$3,465.00
1040.739	6" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$3.04	\$6,840.00	\$3.00	\$6,750.00	(\$0.04)	(\$90.00)
1040.740	12" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	31,500	\$6.42	\$202,230.00	\$6.00	\$189,000.00	(\$0.42)	(\$13,230.00)
1040.760	4" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	2,250	\$1.46	\$3,285.00	\$1.00	\$2,250.00	(\$0.46)	(\$1,035.00)
1040.765	12" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	360	\$6.42	\$2,311.20	\$6.00	\$2,160.00	(\$0.42)	(\$151.20)
1040.906	COLORED PAVEMENT MARKING BUSWAY	SF	25,000	\$19.43	\$485,750.00	\$10.00	\$250,000.00	(\$9.43)	(\$235,750.00)
1040.907	COLORED PAVEMENT MARKING BIKELANE	SF	2,250	\$7.23	\$16,267.50	\$10.00	\$22,500.00	\$2.77	\$6,232.50

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.912	PAVEMENT ARROWS	SF	225	\$29.71	\$6,684.75	\$150.00	\$33,750.00	\$120.29	\$27,065.25
1040.920	PAVEMENT MARKING REMOVAL	SF	6,750	\$7.30	\$49,275.00	\$2.00	\$13,500.00	(\$5.30)	(\$35,775.00)
1040.940	REFLECTORIZED FLEXIBLE DELINEATOR POST	EA	135	\$97.27	\$13,131.45	\$225.00	\$30,375.00	\$127.73	\$17,243.55
1041.001	VINYL SIGN PANEL	SF	150	\$75.00	\$11,250.00	\$105.00	\$15,750.00	\$30.00	\$4,500.00
1041.120	BUS STOP SIGNS AND ATTACHMENT HARDWARE	EA	1,000	\$222.19	\$222,190.00	\$45.00	\$45,000.00	(\$177.19)	(\$177,190.00)
1041.336	P-5 SIGN SUPPORT	EA	1,000	\$121.98	\$121,980.00	\$225.00	\$225,000.00	\$103.02	\$103,020.00
1041.640	WARNING AND REGULATORY SIGNS (PERMANENT)	SF	3,375	\$16.23	\$54,776.25	\$15.00	\$50,625.00	(\$1.23)	(\$4,151.25)
1041.801	TEMPORARY ILLUMINATION FOR NIGHT TIME WORK	UN	150	\$110.00	\$16,500.00	\$1.00	\$150.00	(\$109.00)	(\$16,350.00)
1042.002	ALUMINUM SIGNS	SF	950	\$30.00	\$28,500.00	\$25.00	\$23,750.00	(\$5.00)	(\$4,750.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 3670

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.016	POLE MOUNTED TRANSIT AUTHORIT'S YMBOL	Y EA	3	\$3,500.00	\$10,500.00	\$15,500.00	\$46,500.00	\$12,000.00	\$36,000.00
1042.019	TACTILE/ BRAILLE SIGNS	EA	15	\$108.00	\$1,620.00	\$150.00	\$2,250.00	\$42.00	\$630.00
1042.023	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DY	160	\$10.00	\$1,600.00	\$2,514.50	\$402,320.00	\$2,504.50	\$400,720.00
1042.026	TEMPORARY BARRIER (TL-2)	FT	400	\$72.00	\$28,800.00	\$15.00	\$6,000.00	(\$57.00)	(\$22,800.00)
1042.027	PORTABLE CHANGEABLE MESSAGE SIGN	DY	180	\$45.00	\$8,100.00	\$25.00	\$4,500.00	(\$20.00)	(\$3,600.00)
1042.052	PORTABLE BARRIER - TYPE III	EA	20	\$180.00	\$3,600.00	\$1.00	\$20.00	(\$179.00)	(\$3,580.00)
1042.056	SPECIAL LIGHTING UNIT (FLASHING ARROW)	DY	200	\$25.00	\$5,000.00	\$12.00	\$2,400.00	(\$13.00)	(\$2,600.00)
1042.061	REFLECTORIZED DRUM	DD	2,650	\$1.25	\$3,312.50	\$0.35	\$927.50	(\$0.90)	(\$2,385.00)
1042.063	REFLECTORIZED DRUM FLASHER - TYPE A	DD	550	\$2.50	\$1,375.00	\$0.50	\$275.00	(\$2.00)	(\$1,100.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Contract N19CN01

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder: 3670

MA Firm Name: AECOM TECHNICAL SERVICES INC. Newport Construction Corporation Firm Name:

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.100	SIGNS - REMOVE AND RESET	EA	450	\$159.63	\$71,833.50	\$65.00	\$29,250.00	(\$94.63)	(\$42,583.50)
1042.110	SIGNS - REMOVE AND STACK	EA	450	\$61.47	\$27,661.50	\$15.00	\$6,750.00	(\$46.47)	(\$20,911.50)
1042.240	SAFETY SIGNAGE FOR CONSTRUCTION OPERATIONS	SF	800	\$30.00	\$24,000.00	\$100.00	\$80,000.00	\$70.00	\$56,000.00
1050.215	BENCHES - REMOVE AND RESET	EA	20	\$872.00	\$17,440.00	\$350.00	\$7,000.00	(\$522.00)	(\$10,440.00)
1050.270	BENCHES - EXTERIOR	EA	40	\$1,249.05	\$49,962.00	\$1,500.00	\$60,000.00	\$250.95	\$10,038.00
1076.022	BUS PASSENGER SHELTER	EA	25	\$10,672.56	\$266,814.00	\$20,120.00	\$503,000.00	\$9,447.44	\$236,186.00
1076.027	SHELTER - FURNISH AND INSTALL	EA	25	\$30,000.00	\$750,000.00	\$35,000.00	\$875,000.00	\$5,000.00	\$125,000.00
1098.020	TRASH RECEPTACLE	EA	40	\$734.57	\$29,382.80	\$1,000.00	\$40,000.00	\$265.43	\$10,617.20
1112.000	BICYCLE RACK	EA	40	\$1,068.77	\$42,750.80	\$800.00	\$32,000.00	(\$268.77)	(\$10,750.80)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

3670

Firm Name: AECOM TECHNICAL SERVICES INC.

MA

				Eng	ineer	Bio	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1112.002	BICYCLE RACK REMOVE AND RESET	EA	16	\$697.68	\$11,162.88	\$350.00	\$5,600.00	(\$347.68)	(\$5,562.88)
1600.359	ELECTRICAL WORK	AN	1	\$285,500.00	\$285,500.00	\$285,500.00	\$285,500.00	\$0.00	\$0.00
1614.031	1" GRS EXPOSED CONDUIT	LF	317	\$29.00	\$9,193.00	\$40.00	\$12,680.00	\$11.00	\$3,487.00
1615.055	1" PVC SCHEDULE 80 CONDUIT	LF	385	\$8.00	\$3,080.00	\$125.00	\$48,125.00	\$117.00	\$45,045.00
1615.102	2" PVC SCHEDULE 80 CONDUIT	LF	280	\$91.27	\$25,555.60	\$145.00	\$40,600.00	\$53.73	\$15,044.40
1615.262	1 - 2" PVC CONDUIT CONCRETE ENCASED	LF	280	\$209.42	\$58,637.60	\$165.00	\$46,200.00	(\$44.42)	(\$12,437.60)
1615.271	1-1" PVC CONDUITS CONCRETE ENCASED	LF	150	\$75.00	\$11,250.00	\$145.00	\$21,750.00	\$70.00	\$10,500.00
1619.204	2" RIGID STEEL CONDUIT	LF	280	\$116.51	\$32,622.80	\$60.00	\$16,800.00	(\$56.51)	(\$15,822.80)
1622.025	HANDHOLE - TYPE A	EA	40	\$1,867.05	\$74,682.00	\$2,000.00	\$80,000.00	\$132.95	\$5,318.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Bidder: 3670

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Firm Name:

Newport Construction Corporation

				Eı	ngineer	E	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1622.026	HANDHOLE - TYPE B	EA	20	\$3,740.00	\$74,800.00	\$3,000.00	\$60,000.00	(\$740.00)	(\$14,800.00)
1651.129	TRAFFIC SIGNALS	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
1651.140	SIGNALIZED PEDESTRIAN CROSSING- RRFB	EA	9	\$25,435.55	\$228,919.95	\$30,000.00	\$270,000.00	\$4,564.45	\$41,080.05
1651.144	SIGNALIZED PEDESTRIAN CROSSING- LED EDGE LIT FLASHING SIGN	EA	12	\$33,175.50	\$398,106.00	\$30,000.00	\$360,000.00	(\$3,175.50)	(\$38,106.00)
1651.148	SIGNALIZED PEDESTRIAN CROSSING - RRFB - SOLAR	EA	9	\$33,175.44	\$298,578.96	\$30,000.00	\$270,000.00	(\$3,175.44)	(\$28,578.96)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Estima	ate Co	ntract Base E	Bid:	\$9,999,538.83		\$11,611,077.86		\$1,611,539.03
	Contract Total - Ba	se Bid	Contract Total - Base Bid and Alternates:						\$1,611,539.03

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder:

Mccourt Construction Co. Inc Firm Name:

2391

				Eng	jineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.133	PROJECT OFFICE	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0170.101	MOBILIZATION	FP	1	\$264,292.36	\$264,292.36	\$264,292.36	\$264,292.36	\$0.00	\$0.00
0211.013	REMOVAL AND DISPOSAL OF ASPHALT PAVEMENT AT PLATFORM AND SIDEWALK LOCATIONS	SY	40	\$113.92	\$4,556.80	\$50.00	\$2,000.00	(\$63.92)	(\$2,556.80)
0211.430	UTILITY STRUCTURE ADJUSTED	EA	16	\$1,130.50	\$18,088.00	\$850.00	\$13,600.00	(\$280.50)	(\$4,488.00)
0211.495	SITE UTILITIES	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0211.610	PEDESTRIAN RAMP	SY	500	\$234.20	\$117,100.00	\$275.00	\$137,500.00	\$40.80	\$20,400.00
0212.147	TRANSPORTATION & DISPOSAL OF HAZARDOUS MATERIALS	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

2391

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Engi	ineer	Bio	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0216.120	1.5" PAVEMENT MILLING	SY	3,850	\$23.44	\$90,244.00	\$30.00	\$115,500.00	\$6.56	\$25,256.00
0221.052	SILT SACK	EA	80	\$248.82	\$19,905.60	\$300.00	\$24,000.00	\$51.18	\$4,094.40
0222.003	UNCLASSIFIED EXCAVATION	CY	800	\$105.99	\$84,792.00	\$135.00	\$108,000.00	\$29.01	\$23,208.00
0222.442	TEST PITS	CY	200	\$252.32	\$50,464.00	\$450.00	\$90,000.00	\$197.68	\$39,536.00
0222.501	ORDINARY BORROW	CY	60	\$38.96	\$2,337.60	\$175.00	\$10,500.00	\$136.04	\$8,162.40
0222.504	GRAVEL BORROW	СҮ	340	\$116.62	\$39,650.80	\$200.00	\$68,000.00	\$83.38	\$28,349.20
0222.522	PRECAST DRAIN MANHOLE	EA	8	\$5,105.12	\$40,840.96	\$10,500.00	\$84,000.00	\$5,394.88	\$43,159.04
0222.530	CATCH BASIN OR MANHOLE CHANGE IN TYPE	EA	8	\$1,639.62	\$13,116.96	\$3,500.00	\$28,000.00	\$1,860.38	\$14,883.04
0222.531	CATCH BASIN OR MANHOLE REMODELED	EA	8	\$1,640.25	\$13,122.00	\$5,000.00	\$40,000.00	\$3,359.75	\$26,878.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 2391

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.542	FRAMES AND GRATES OR COVERS REMOVE AND RESET	EA	16	\$964.62	\$15,433.92	\$600.00	\$9,600.00	(\$364.62)	(\$5,833.92)
0222.550	LOAM BORROW	CY	80	\$127.18	\$10,174.40	\$115.00	\$9,200.00	(\$12.18)	(\$974.40)
0222.628	CRUSHED STONE	CY	100	\$74.17	\$7,417.00	\$125.00	\$12,500.00	\$50.83	\$5,083.00
0227.010	FLOWABLE FILL	CY	140	\$241.47	\$33,805.80	\$375.00	\$52,500.00	\$133.53	\$18,694.20
0234.195	BOLLARDS	EA	92	\$1,981.11	\$182,262.12	\$2,500.00	\$230,000.00	\$518.89	\$47,737.88
0242.141	RETAINING WALL - A	SF	132	\$388.43	\$51,272.76	\$325.00	\$42,900.00	(\$63.43)	(\$8,372.76)
0250.001	CLEANING DRAINAGE STRUCTURES	EA	48	\$1,006.72	\$48,322.56	\$525.00	\$25,200.00	(\$481.72)	(\$23,122.56)
0250.100	CATCH BASINS	EA	12	\$3,202.83	\$38,433.96	\$11,500.00	\$138,000.00	\$8,297.17	\$99,566.04
0250.985	DRAIN INLET	EA	8	\$2,022.62	\$16,180.96	\$5,500.00	\$44,000.00	\$3,477.38	\$27,819.04

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Bidder:

Mccourt Construction Co. Inc

2391

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

				Eng	jineer	Bio	dder	Variance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
0251.776	16" DUCTILE IRON PIPE	LF	6	\$247.00	\$1,482.00	\$425.00	\$2,550.00	\$178.00	\$1,068.00	
0255.100	MANHOLES MUNICIPAL STANDARD	EA	12	\$4,062.75	\$48,753.00	\$12,500.00	\$150,000.00	\$8,437.25	\$101,247.00	
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	3,000	\$8.46	\$25,380.00	\$6.00	\$18,000.00	(\$2.46)	(\$7,380.00)	
0261.120	SAW CUTTING CEMENT CONCRETE	LF	4,500	\$7.17	\$32,265.00	\$8.00	\$36,000.00	\$0.83	\$3,735.00	
0261.180	BITUMINOUS CONCRETE PAVING-BUSWAY	TN	450	\$339.45	\$152,752.50	\$300.00	\$135,000.00	(\$39.45)	(\$17,752.50)	
0261.192	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1 TOP COURSE	TN	80	\$341.52	\$27,321.60	\$350.00	\$28,000.00	\$8.48	\$678.40	
0261.196	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 LEVELING COURSE	TN	40	\$251.57	\$10,062.80	\$350.00	\$14,000.00	\$98.43	\$3,937.20	
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	200	\$268.20	\$53,640.00	\$275.00	\$55,000.00	\$6.80	\$1,360.00	
0261.204	CLASS I BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 TOP COURSE - HAND OPERATION	TN	30	\$499.80	\$14,994.00	\$375.00	\$11,250.00	(\$124.80)	(\$3,744.00)	

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

2391

Engineer: 1043

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide, MA

Bidder:

Firm Name:

Mccourt Construction Co. Inc

				Eng	jineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.331	BITUMEN FOR TACK	GL	180	\$16.18	\$2,912.40	\$30.00	\$5,400.00	\$13.82	\$2,487.60
0262.180	GRANITE CURB STRAIGHT	LF	2,000	\$99.35	\$198,700.00	\$125.00	\$250,000.00	\$25.65	\$51,300.00
0262.185	GRANITE CURB CURVED	LF	1,400	\$119.01	\$166,614.00	\$175.00	\$245,000.00	\$55.99	\$78,386.00
0262.701	CURBING - REMOVE AND RESET	LF	600	\$58.83	\$35,298.00	\$95.00	\$57,000.00	\$36.17	\$21,702.00
0262.702	CURBING - REMOVE AND STACK	LF	200	\$15.53	\$3,106.00	\$50.00	\$10,000.00	\$34.47	\$6,894.00
0262.720	CURBING - REMOVE AND DISCARD	LF	2,000	\$12.42	\$24,840.00	\$25.00	\$50,000.00	\$12.58	\$25,160.00
0263.015	CONCRETE SIDEWALK	SY	2,500	\$172.38	\$430,950.00	\$125.00	\$312,500.00	(\$47.38)	(\$118,450.00)
0263.116	TACTILE WARNING STRIP	SF	2,000	\$25.44	\$50,880.00	\$20.00	\$40,000.00	(\$5.44)	(\$10,880.00)
0263.118	TACTILE WARNING STRIP- CAST IRON	SF	100	\$37.01	\$3,701.00	\$40.00	\$4,000.00	\$2.99	\$299.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Bidder: 2391

				Enç	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0271.026	CHAIN LINK FENCE - REMOVE AND RESET	LF	1,500	\$22.34	\$33,510.00	\$55.00	\$82,500.00	\$32.66	\$48,990.00
0271.072	72" CHAIN LINK FENCE	LF	1,000	\$94.11	\$94,110.00	\$185.00	\$185,000.00	\$90.89	\$90,890.00
0271.110	CHAIN LINK FENCE	LF	400	\$53.71	\$21,484.00	\$170.00	\$68,000.00	\$116.29	\$46,516.00
0271.942	STEEL FENCE	LF	100	\$132.89	\$13,289.00	\$1,250.00	\$125,000.00	\$1,117.11	\$111,711.0C
0282.150	SEEDING	SY	600	\$6.24	\$3,744.00	\$6.00	\$3,600.00	(\$0.24)	(\$144.00)
0282.407	SHREDDED BARK MULCH	CY	200	\$132.07	\$26,414.00	\$125.00	\$25,000.00	(\$7.07)	(\$1,414.00)
0284.100	TREES REMOVED - UNDER 24"	EA	12	\$1,354.91	\$16,258.92	\$2,000.00	\$24,000.00	\$645.09	\$7,741.08
0284.110	STUMPS REMOVED	EA	8	\$502.37	\$4,018.96	\$525.00	\$4,200.00	\$22.63	\$181.04
0290.999	GENERAL ALLOWANCE	AN	1	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Contract N19CN01

Bid Date: 12/04/2025

Engineer: 1043

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

MA

Mccourt Construction Co. Inc Firm Name:

2391

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0329.950	CAST-IN-PLACE CONCRETE	CY	375	\$1,000.00	\$375,000.00	\$1,350.00	\$506,250.00	\$350.00	\$131,250.00
0340.140	PRECAST JERSEY BARRIER	LF	200	\$187.57	\$37,514.00	\$70.00	\$14,000.00	(\$117.57)	(\$23,514.00)
0341.401	PRECAST CONCRETE PAVERS- REMOVE AND RESET	SF	4,800	\$35.00	\$168,000.00	\$40.00	\$192,000.00	\$5.00	\$24,000.00
0348.412	12" REINFORCED CONCRETE PIPE CLASS IV	LF	900	\$182.98	\$164,682.00	\$325.00	\$292,500.00	\$142.02	\$127,818.00
0348.418	18" REINFORCED CONCRETE PIPE CLASS IV	LF	480	\$198.61	\$95,332.80	\$375.00	\$180,000.00	\$176.39	\$84,667.20
0570.001	LEANING RAIL	LF	50	\$210.00	\$10,500.00	\$1,100.00	\$55,000.00	\$890.00	\$44,500.00
0590.198	STEEL BEAM HIGHWAY GUARD - TYPE SS	LF	200	\$60.60	\$12,120.00	\$60.00	\$12,000.00	(\$0.60)	(\$120.00)
0590.202	HIGHWAY GUARD STEEL BEAM TERMINAL SECTION	EA	8	\$2,948.00	\$23,584.00	\$10,000.00	\$80,000.00	\$7,052.00	\$56,416.00
1040.111	TEMPORARY PAVEMENT MARKINGS	LF	1,575	\$0.73	\$1,149.75	\$2.00	\$3,150.00	\$1.27	\$2,000.25

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

2391

Engineer: 1043

Contract N19CN01

Bidder:

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

Mccourt Construction Co. Inc

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.704	6" REFLECTORIZED YELLOW LINE	LF	2,250	\$1.17	\$2,632.50	\$2.50	\$5,625.00	\$1.33	\$2,992.50
1040.707	REFLECTORIZED WHITE LINE CROSSWALKS AND STOPS	SF	18,000	\$6.41	\$115,380.00	\$7.00	\$126,000.00	\$0.59	\$10,620.00
1040.738	4" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$1.46	\$3,285.00	\$2.75	\$6,187.50	\$1.29	\$2,902.50
1040.739	6" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$3.04	\$6,840.00	\$2.50	\$5,625.00	(\$0.54)	(\$1,215.00)
1040.740	12" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	31,500	\$6.42	\$202,230.00	\$7.00	\$220,500.00	\$0.58	\$18,270.00
1040.760	4" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	2,250	\$1.46	\$3,285.00	\$2.50	\$5,625.00	\$1.04	\$2,340.00
1040.765	12" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	360	\$6.42	\$2,311.20	\$7.00	\$2,520.00	\$0.58	\$208.80
1040.906	COLORED PAVEMENT MARKING BUSWAY	SF	25,000	\$19.43	\$485,750.00	\$12.00	\$300,000.00	(\$7.43)	(\$185,750.00)
1040.907	COLORED PAVEMENT MARKING BIKELANE	SF	2,250	\$7.23	\$16,267.50	\$12.00	\$27,000.00	\$4.77	\$10,732.50

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Bidder:

Engineer: 1043

CMS-BM-003

Contract N19CN01

2391

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.912	PAVEMENT ARROWS	SF	225	\$29.71	\$6,684.75	\$12.00	\$2,700.00	(\$17.71)	(\$3,984.75)
1040.920	PAVEMENT MARKING REMOVAL	SF	6,750	\$7.30	\$49,275.00	\$2.00	\$13,500.00	(\$5.30)	(\$35,775.00)
1040.940	REFLECTORIZED FLEXIBLE DELINEATOR POST	EA	135	\$97.27	\$13,131.45	\$250.00	\$33,750.00	\$152.73	\$20,618.55
1041.001	VINYL SIGN PANEL	SF	150	\$75.00	\$11,250.00	\$12.50	\$1,875.00	(\$62.50)	(\$9,375.00)
1041.120	BUS STOP SIGNS AND ATTACHMENT HARDWARE	EA	1,000	\$222.19	\$222,190.00	\$125.00	\$125,000.00	(\$97.19)	(\$97,190.00)
1041.336	P-5 SIGN SUPPORT	EA	1,000	\$121.98	\$121,980.00	\$425.00	\$425,000.00	\$303.02	\$303,020.00
1041.640	WARNING AND REGULATORY SIGNS (PERMANENT)	SF	3,375	\$16.23	\$54,776.25	\$25.00	\$84,375.00	\$8.77	\$29,598.75
1041.801	TEMPORARY ILLUMINATION FOR NIGHT TIME WORK	UN	150	\$110.00	\$16,500.00	\$225.00	\$33,750.00	\$115.00	\$17,250.00
1042.002	ALUMINUM SIGNS	SF	950	\$30.00	\$28,500.00	\$40.00	\$38,000.00	\$10.00	\$9,500.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 2391

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.016	POLE MOUNTED TRANSIT AUTHORITY SYMBOL	Y EA	3	\$3,500.00	\$10,500.00	\$17,000.00	\$51,000.00	\$13,500.00	\$40,500.00
1042.019	TACTILE/ BRAILLE SIGNS	EA	15	\$108.00	\$1,620.00	\$325.00	\$4,875.00	\$217.00	\$3,255.00
1042.023	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DY	160	\$10.00	\$1,600.00	\$450.00	\$72,000.00	\$440.00	\$70,400.00
1042.026	TEMPORARY BARRIER (TL-2)	FT	400	\$72.00	\$28,800.00	\$70.00	\$28,000.00	(\$2.00)	(\$800.00)
1042.027	PORTABLE CHANGEABLE MESSAGE SIGN	DY	180	\$45.00	\$8,100.00	\$25.00	\$4,500.00	(\$20.00)	(\$3,600.00)
1042.052	PORTABLE BARRIER - TYPE III	EA	20	\$180.00	\$3,600.00	\$190.00	\$3,800.00	\$10.00	\$200.00
1042.056	SPECIAL LIGHTING UNIT (FLASHING ARROW)	DY	200	\$25.00	\$5,000.00	\$20.00	\$4,000.00	(\$5.00)	(\$1,000.00)
1042.061	REFLECTORIZED DRUM	DD	2,650	\$1.25	\$3,312.50	\$1.00	\$2,650.00	(\$0.25)	(\$662.50)
1042.063	REFLECTORIZED DRUM FLASHER - TYPE A	DD	550	\$2.50	\$1,375.00	\$4.50	\$2,475.00	\$2.00	\$1,100.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 2391

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bi	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.100	SIGNS - REMOVE AND RESET	EA	450	\$159.63	\$71,833.50	\$450.00	\$202,500.00	\$290.37	\$130,666.50
1042.110	SIGNS - REMOVE AND STACK	EA	450	\$61.47	\$27,661.50	\$95.00	\$42,750.00	\$33.53	\$15,088.50
1042.240	SAFETY SIGNAGE FOR CONSTRUCTION OPERATIONS	SF	800	\$30.00	\$24,000.00	\$35.00	\$28,000.00	\$5.00	\$4,000.00
1050.215	BENCHES - REMOVE AND RESET	EA	20	\$872.00	\$17,440.00	\$2,000.00	\$40,000.00	\$1,128.00	\$22,560.00
1050.270	BENCHES - EXTERIOR	EA	40	\$1,249.05	\$49,962.00	\$6,500.00	\$260,000.00	\$5,250.95	\$210,038.00
1076.022	BUS PASSENGER SHELTER	EA	25	\$10,672.56	\$266,814.00	\$7,500.00	\$187,500.00	(\$3,172.56)	(\$79,314.00)
1076.027	SHELTER - FURNISH AND INSTALL	EA	25	\$30,000.00	\$750,000.00	\$40,000.00	\$1,000,000.00	\$10,000.00	\$250,000.00
1098.020	TRASH RECEPTACLE	EA	40	\$734.57	\$29,382.80	\$2,500.00	\$100,000.00	\$1,765.43	\$70,617.20
1112.000	BICYCLE RACK	EA	40	\$1,068.77	\$42,750.80	\$3,500.00	\$140,000.00	\$2,431.23	\$97,249.20

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder:

Mccourt Construction Co. Inc Firm Name:

2391

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1112.002	BICYCLE RACK REMOVE AND RESET	EA	16	\$697.68	\$11,162.88	\$3,000.00	\$48,000.00	\$2,302.32	\$36,837.12
1600.359	ELECTRICAL WORK	AN	1	\$285,500.00	\$285,500.00	\$285,500.00	\$285,500.00	\$0.00	\$0.00
1614.031	1" GRS EXPOSED CONDUIT	LF	317	\$29.00	\$9,193.00	\$45.00	\$14,265.00	\$16.00	\$5,072.00
1615.055	1" PVC SCHEDULE 80 CONDUIT	LF	385	\$8.00	\$3,080.00	\$75.00	\$28,875.00	\$67.00	\$25,795.00
1615.102	2" PVC SCHEDULE 80 CONDUIT	LF	280	\$91.27	\$25,555.60	\$80.00	\$22,400.00	(\$11.27)	(\$3,155.60)
1615.262	1 - 2" PVC CONDUIT CONCRETE ENCASED	LF	280	\$209.42	\$58,637.60	\$105.00	\$29,400.00	(\$104.42)	(\$29,237.60)
1615.271	1-1" PVC CONDUITS CONCRETE ENCASED	LF	150	\$75.00	\$11,250.00	\$105.00	\$15,750.00	\$30.00	\$4,500.00
1619.204	2" RIGID STEEL CONDUIT	LF	280	\$116.51	\$32,622.80	\$75.00	\$21,000.00	(\$41.51)	(\$11,622.80)
1622.025	HANDHOLE - TYPE A	EA	40	\$1,867.05	\$74,682.00	\$3,000.00	\$120,000.00	\$1,132.95	\$45,318.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 2391

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide,

MA

				Eı	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1622.026	HANDHOLE - TYPE B	EA	20	\$3,740.00	\$74,800.00	\$6,000.00	\$120,000.00	\$2,260.00	\$45,200.00
1651.129	TRAFFIC SIGNALS	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
1651.140	SIGNALIZED PEDESTRIAN CROSSING- RRFB	EA	9	\$25,435.55	\$228,919.95	\$38,000.00	\$342,000.00	\$12,564.45	\$113,080.05
1651.144	SIGNALIZED PEDESTRIAN CROSSING- LED EDGE LIT FLASHING SIGN	EA	12	\$33,175.50	\$398,106.00	\$37,000.00	\$444,000.00	\$3,824.50	\$45,894.00
1651.148	SIGNALIZED PEDESTRIAN CROSSING - RRFB - SOLAR	EA	9	\$33,175.44	\$298,578.96	\$22,500.00	\$202,500.00	(\$10,675.44)	(\$96,078.96)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Estima	ate Co	ntract Base E	Bid:	\$9,999,538.83 ———		\$12,385,215.86 ———		\$2,385,677.03
	Contract Total - Base Bid and Alternates:						\$12,385,215.86		\$2,385,677.03

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 1160

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Barletta Heavy Division, Inc. Firm Name:

				Eng	ineer	Bio	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.133	PROJECT OFFICE	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0170.101	MOBILIZATION	FP	1	\$264,292.36	\$264,292.36	\$264,292.36	\$264,292.36	\$0.00	\$0.00
0211.013	REMOVAL AND DISPOSAL OF ASPHALT PAVEMENT AT PLATFORM AND SIDEWALK LOCATIONS	SY	40	\$113.92	\$4,556.80	\$200.00	\$8,000.00	\$86.08	\$3,443.20
0211.430	UTILITY STRUCTURE ADJUSTED	EA	16	\$1,130.50	\$18,088.00	\$1,250.00	\$20,000.00	\$119.50	\$1,912.00
0211.495	SITE UTILITIES	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0211.610	PEDESTRIAN RAMP	SY	500	\$234.20	\$117,100.00	\$160.00	\$80,000.00	(\$74.20)	(\$37,100.00)
0212.147	TRANSPORTATION & DISPOSAL OF HAZARDOUS MATERIALS	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

1160

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

Barletta Heavy Division, Inc. Firm Name:

				Engi	ineer	Bio	lder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0216.120	1.5" PAVEMENT MILLING	SY	3,850	\$23.44	\$90,244.00	\$16.00	\$61,600.00	(\$7.44)	(\$28,644.00)
0221.052	SILT SACK	EA	80	\$248.82	\$19,905.60	\$350.00	\$28,000.00	\$101.18	\$8,094.40
0222.003	UNCLASSIFIED EXCAVATION	CY	800	\$105.99	\$84,792.00	\$120.00	\$96,000.00	\$14.01	\$11,208.00
0222.442	TEST PITS	CY	200	\$252.32	\$50,464.00	\$380.00	\$76,000.00	\$127.68	\$25,536.00
0222.501	ORDINARY BORROW	CY	60	\$38.96	\$2,337.60	\$89.00	\$5,340.00	\$50.04	\$3,002.40
0222.504	GRAVEL BORROW	CY	340	\$116.62	\$39,650.80	\$162.00	\$55,080.00	\$45.38	\$15,429.20
0222.522	PRECAST DRAIN MANHOLE	EA	8	\$5,105.12	\$40,840.96	\$13,425.00	\$107,400.00	\$8,319.88	\$66,559.04
0222.530	CATCH BASIN OR MANHOLE CHANGE IN TYPE	EA	8	\$1,639.62	\$13,116.96	\$4,600.00	\$36,800.00	\$2,960.38	\$23,683.04
0222.531	CATCH BASIN OR MANHOLE REMODELED	EA	8	\$1,640.25	\$13,122.00	\$1,600.00	\$12,800.00	(\$40.25)	(\$322.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

1160

Firm Name: AECOM TECHNICAL SERVICES INC.

MA Barletta Heavy Division, Inc. Firm Name:

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.542	FRAMES AND GRATES OR COVERS REMOVE AND RESET	EA	16	\$964.62	\$15,433.92	\$940.00	\$15,040.00	(\$24.62)	(\$393.92)
0222.550	LOAM BORROW	CY	80	\$127.18	\$10,174.40	\$135.00	\$10,800.00	\$7.82	\$625.60
0222.628	CRUSHED STONE	CY	100	\$74.17	\$7,417.00	\$125.00	\$12,500.00	\$50.83	\$5,083.00
0227.010	FLOWABLE FILL	CY	140	\$241.47	\$33,805.80	\$370.00	\$51,800.00	\$128.53	\$17,994.20
0234.195	BOLLARDS	EA	92	\$1,981.11	\$182,262.12	\$2,250.00	\$207,000.00	\$268.89	\$24,737.88
0242.141	RETAINING WALL - A	SF	132	\$388.43	\$51,272.76	\$385.00	\$50,820.00	(\$3.43)	(\$452.76)
0250.001	CLEANING DRAINAGE STRUCTURES	EA	48	\$1,006.72	\$48,322.56	\$310.00	\$14,880.00	(\$696.72)	(\$33,442.56)
0250.100	CATCH BASINS	EA	12	\$3,202.83	\$38,433.96	\$15,500.00	\$186,000.00	\$12,297.17	\$147,566.04
0250.985	DRAIN INLET	EA	8	\$2,022.62	\$16,180.96	\$10,250.00	\$82,000.00	\$8,227.38	\$65,819.04

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Bidder: 1160

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide, MA

irm Name:	Barletta Heavy	/ Division, Inc.
-----------	----------------	------------------

				Eng	jineer	Bio	lder	Variance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
0251.776	16" DUCTILE IRON PIPE	LF	6	\$247.00	\$1,482.00	\$1,500.00	\$9,000.00	\$1,253.00	\$7,518.00	
0255.100	MANHOLES MUNICIPAL STANDARD	EA	12	\$4,062.75	\$48,753.00	\$13,500.00	\$162,000.00	\$9,437.25	\$113,247.00	
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	3,000	\$8.46	\$25,380.00	\$5.50	\$16,500.00	(\$2.96)	(\$8,880.00)	
0261.120	SAW CUTTING CEMENT CONCRETE	LF	4,500	\$7.17	\$32,265.00	\$6.50	\$29,250.00	(\$0.67)	(\$3,015.00)	
0261.180	BITUMINOUS CONCRETE PAVING-BUSWAY	TN	450	\$339.45	\$152,752.50	\$610.00	\$274,500.00	\$270.55	\$121,747.50	
0261.192	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1 TOP COURSE	TN	80	\$341.52	\$27,321.60	\$342.00	\$27,360.00	\$0.48	\$38.40	
0261.196	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 LEVELING COURSE	TN	40	\$251.57	\$10,062.80	\$342.00	\$13,680.00	\$90.43	\$3,617.20	
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	200	\$268.20	\$53,640.00	\$342.00	\$68,400.00	\$73.80	\$14,760.00	
0261.204	CLASS I BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 TOP COURSE - HAND OPERATION	TN	30	\$499.80	\$14,994.00	\$430.00	\$12,900.00	(\$69.80)	(\$2,094.00)	

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder: 1160

Barletta Heavy Division, Inc. Firm Name:

		Engineer Bidder			dder	Var	iance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.331	BITUMEN FOR TACK	GL	180	\$16.18	\$2,912.40	\$20.00	\$3,600.00	\$3.82	\$687.60
0262.180	GRANITE CURB STRAIGHT	LF	2,000	\$99.35	\$198,700.00	\$75.00	\$150,000.00	(\$24.35)	(\$48,700.00)
0262.185	GRANITE CURB CURVED	LF	1,400	\$119.01	\$166,614.00	\$84.00	\$117,600.00	(\$35.01)	(\$49,014.00)
0262.701	CURBING - REMOVE AND RESET	LF	600	\$58.83	\$35,298.00	\$56.00	\$33,600.00	(\$2.83)	(\$1,698.00)
0262.702	CURBING - REMOVE AND STACK	LF	200	\$15.53	\$3,106.00	\$16.00	\$3,200.00	\$0.47	\$94.00
0262.720	CURBING - REMOVE AND DISCARD	LF	2,000	\$12.42	\$24,840.00	\$15.00	\$30,000.00	\$2.58	\$5,160.00
0263.015	CONCRETE SIDEWALK	SY	2,500	\$172.38	\$430,950.00	\$145.00	\$362,500.00	(\$27.38)	(\$68,450.00)
0263.116	TACTILE WARNING STRIP	SF	2,000	\$25.44	\$50,880.00	\$34.00	\$68,000.00	\$8.56	\$17,120.00
0263.118	TACTILE WARNING STRIP- CAST IRON	SF	100	\$37.01	\$3,701.00	\$190.00	\$19,000.00	\$152.99	\$15,299.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

1160

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Firm Name:

Barletta Heavy Division, Inc.

				En	Engineer		idder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0271.026	CHAIN LINK FENCE - REMOVE AND RESET	LF	1,500	\$22.34	\$33,510.00	\$100.00	\$150,000.00	\$77.66	\$116,490.00
0271.072	72" CHAIN LINK FENCE	LF	1,000	\$94.11	\$94,110.00	\$105.00	\$105,000.00	\$10.89	\$10,890.00
0271.110	CHAIN LINK FENCE	LF	400	\$53.71	\$21,484.00	\$105.00	\$42,000.00	\$51.29	\$20,516.00
0271.942	STEEL FENCE	LF	100	\$132.89	\$13,289.00	\$850.00	\$85,000.00	\$717.11	\$71,711.00
0282.150	SEEDING	SY	600	\$6.24	\$3,744.00	\$4.50	\$2,700.00	(\$1.74)	(\$1,044.00)
0282.407	SHREDDED BARK MULCH	CY	200	\$132.07	\$26,414.00	\$235.00	\$47,000.00	\$102.93	\$20,586.00
0284.100	TREES REMOVED - UNDER 24"	EA	12	\$1,354.91	\$16,258.92	\$3,300.00	\$39,600.00	\$1,945.09	\$23,341.08
0284.110	STUMPS REMOVED	EA	8	\$502.37	\$4,018.96	\$1,200.00	\$9,600.00	\$697.63	\$5,581.04
0290.999	GENERAL ALLOWANCE	AN	1	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 1160

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Barletta Heavy Division, Inc. Firm Name:

				Eng	jineer	Bio	lder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0329.950	CAST-IN-PLACE CONCRETE	CY	375	\$1,000.00	\$375,000.00	\$1,650.00	\$618,750.00	\$650.00	\$243,750.00
0340.140	PRECAST JERSEY BARRIER	LF	200	\$187.57	\$37,514.00	\$125.00	\$25,000.00	(\$62.57)	(\$12,514.00)
0341.401	PRECAST CONCRETE PAVERS- REMOVE AND RESET	SF	4,800	\$35.00	\$168,000.00	\$52.00	\$249,600.00	\$17.00	\$81,600.00
0348.412	12" REINFORCED CONCRETE PIPE CLASS IV	LF	900	\$182.98	\$164,682.00	\$170.00	\$153,000.00	(\$12.98)	(\$11,682.00)
0348.418	18" REINFORCED CONCRETE PIPE CLASS IV	LF	480	\$198.61	\$95,332.80	\$209.00	\$100,320.00	\$10.39	\$4,987.20
0570.001	LEANING RAIL	LF	50	\$210.00	\$10,500.00	\$318.00	\$15,900.00	\$108.00	\$5,400.00
0590.198	STEEL BEAM HIGHWAY GUARD - TYPE SS	LF	200	\$60.60	\$12,120.00	\$48.00	\$9,600.00	(\$12.60)	(\$2,520.00)
0590.202	HIGHWAY GUARD STEEL BEAM TERMINAL SECTION	EA	8	\$2,948.00	\$23,584.00	\$150.00	\$1,200.00	(\$2,798.00)	(\$22,384.00)
1040.111	TEMPORARY PAVEMENT MARKINGS	LF	1,575	\$0.73	\$1,149.75	\$1.40	\$2,205.00	\$0.67	\$1,055.25

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

1160

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

Barletta Heavy Division, Inc. Firm Name:

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.704	6" REFLECTORIZED YELLOW LINE	LF	2,250	\$1.17	\$2,632.50	\$2.50	\$5,625.00	\$1.33	\$2,992.50
1040.707	REFLECTORIZED WHITE LINE CROSSWALKS AND STOPS	SF	18,000	\$6.41	\$115,380.00	\$6.00	\$108,000.00	(\$0.41)	(\$7,380.00)
1040.738	4" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$1.46	\$3,285.00	\$2.50	\$5,625.00	\$1.04	\$2,340.00
1040.739	6" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$3.04	\$6,840.00	\$2.50	\$5,625.00	(\$0.54)	(\$1,215.00)
1040.740	12" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	31,500	\$6.42	\$202,230.00	\$6.00	\$189,000.00	(\$0.42)	(\$13,230.00)
1040.760	4" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	2,250	\$1.46	\$3,285.00	\$2.50	\$5,625.00	\$1.04	\$2,340.00
1040.765	12" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	360	\$6.42	\$2,311.20	\$6.00	\$2,160.00	(\$0.42)	(\$151.20)
1040.906	COLORED PAVEMENT MARKING BUSWAY	SF	25,000	\$19.43	\$485,750.00	\$10.00	\$250,000.00	(\$9.43)	(\$235,750.00)
1040.907	COLORED PAVEMENT MARKING BIKELANE	SF	2,250	\$7.23	\$16,267.50	\$11.00	\$24,750.00	\$3.77	\$8,482.50

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

1160

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

Firm Name: AECOM TECHNICAL SERVICES INC.

MA Barletta Heavy Division, Inc. Firm Name:

				Eng	ineer	Bio	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.912	PAVEMENT ARROWS	SF	225	\$29.71	\$6,684.75	\$12.00	\$2,700.00	(\$17.71)	(\$3,984.75)
1040.920	PAVEMENT MARKING REMOVAL	SF	6,750	\$7.30	\$49,275.00	\$2.00	\$13,500.00	(\$5.30)	(\$35,775.00)
1040.940	REFLECTORIZED FLEXIBLE DELINEATOR POST	EA	135	\$97.27	\$13,131.45	\$220.00	\$29,700.00	\$122.73	\$16,568.55
1041.001	VINYL SIGN PANEL	SF	150	\$75.00	\$11,250.00	\$40.00	\$6,000.00	(\$35.00)	(\$5,250.00)
1041.120	BUS STOP SIGNS AND ATTACHMENT HARDWARE	EA	1,000	\$222.19	\$222,190.00	\$185.00	\$185,000.00	(\$37.19)	(\$37,190.00)
1041.336	P-5 SIGN SUPPORT	EA	1,000	\$121.98	\$121,980.00	\$400.00	\$400,000.00	\$278.02	\$278,020.00
1041.640	WARNING AND REGULATORY SIGNS (PERMANENT)	SF	3,375	\$16.23	\$54,776.25	\$26.00	\$87,750.00	\$9.77	\$32,973.75
1041.801	TEMPORARY ILLUMINATION FOR NIGHT TIME WORK	UN	150	\$110.00	\$16,500.00	\$235.00	\$35,250.00	\$125.00	\$18,750.00
1042.002	ALUMINUM SIGNS	SF	950	\$30.00	\$28,500.00	\$30.00	\$28,500.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder:

Barletta Heavy Division, Inc. Firm Name:

1160

				Engineer		Bidder		Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.016	POLE MOUNTED TRANSIT AUTHORITY SYMBOL	Y EA	3	\$3,500.00	\$10,500.00	\$18,000.00	\$54,000.00	\$14,500.00	\$43,500.00
1042.019	TACTILE/ BRAILLE SIGNS	EA	15	\$108.00	\$1,620.00	\$400.00	\$6,000.00	\$292.00	\$4,380.00
1042.023	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DY	160	\$10.00	\$1,600.00	\$150.00	\$24,000.00	\$140.00	\$22,400.00
1042.026	TEMPORARY BARRIER (TL-2)	FT	400	\$72.00	\$28,800.00	\$42.00	\$16,800.00	(\$30.00)	(\$12,000.00)
1042.027	PORTABLE CHANGEABLE MESSAGE SIGN	DY	180	\$45.00	\$8,100.00	\$150.00	\$27,000.00	\$105.00	\$18,900.00
1042.052	PORTABLE BARRIER - TYPE III	EA	20	\$180.00	\$3,600.00	\$325.00	\$6,500.00	\$145.00	\$2,900.00
1042.056	SPECIAL LIGHTING UNIT (FLASHING ARROW)	DY	200	\$25.00	\$5,000.00	\$67.00	\$13,400.00	\$42.00	\$8,400.00
1042.061	REFLECTORIZED DRUM	DD	2,650	\$1.25	\$3,312.50	\$2.00	\$5,300.00	\$0.75	\$1,987.50
1042.063	REFLECTORIZED DRUM FLASHER - TYPE A	DD	550	\$2.50	\$1,375.00	\$7.00	\$3,850.00	\$4.50	\$2,475.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder:

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Barletta Heavy Division, Inc. Firm Name:

1160

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.100	SIGNS - REMOVE AND RESET	EA	450	\$159.63	\$71,833.50	\$450.00	\$202,500.00	\$290.37	\$130,666.50
1042.110	SIGNS - REMOVE AND STACK	EA	450	\$61.47	\$27,661.50	\$140.00	\$63,000.00	\$78.53	\$35,338.50
1042.240	SAFETY SIGNAGE FOR CONSTRUCTION OPERATIONS	SF	800	\$30.00	\$24,000.00	\$42.00	\$33,600.00	\$12.00	\$9,600.00
1050.215	BENCHES - REMOVE AND RESET	EA	20	\$872.00	\$17,440.00	\$900.00	\$18,000.00	\$28.00	\$560.00
1050.270	BENCHES - EXTERIOR	EA	40	\$1,249.05	\$49,962.00	\$1,950.00	\$78,000.00	\$700.95	\$28,038.00
1076.022	BUS PASSENGER SHELTER	EA	25	\$10,672.56	\$266,814.00	\$16,000.00	\$400,000.00	\$5,327.44	\$133,186.00
1076.027	SHELTER - FURNISH AND INSTALL	EA	25	\$30,000.00	\$750,000.00	\$35,000.00	\$875,000.00	\$5,000.00	\$125,000.00
1098.020	TRASH RECEPTACLE	EA	40	\$734.57	\$29,382.80	\$1,850.00	\$74,000.00	\$1,115.43	\$44,617.20
1112.000	BICYCLE RACK	EA	40	\$1,068.77	\$42,750.80	\$2,100.00	\$84,000.00	\$1,031.23	\$41,249.20

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 1160

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Barletta Heavy Division, Inc. Firm Name:

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1112.002	BICYCLE RACK REMOVE AND RESET	EA	16	\$697.68	\$11,162.88	\$680.00	\$10,880.00	(\$17.68)	(\$282.88)
1600.359	ELECTRICAL WORK	AN	1	\$285,500.00	\$285,500.00	\$285,500.00	\$285,500.00	\$0.00	\$0.00
1614.031	1" GRS EXPOSED CONDUIT	LF	317	\$29.00	\$9,193.00	\$48.00	\$15,216.00	\$19.00	\$6,023.00
1615.055	1" PVC SCHEDULE 80 CONDUIT	LF	385	\$8.00	\$3,080.00	\$150.00	\$57,750.00	\$142.00	\$54,670.00
1615.102	2" PVC SCHEDULE 80 CONDUIT	LF	280	\$91.27	\$25,555.60	\$148.00	\$41,440.00	\$56.73	\$15,884.40
1615.262	1 - 2" PVC CONDUIT CONCRETE ENCASED	LF	280	\$209.42	\$58,637.60	\$210.00	\$58,800.00	\$0.58	\$162.40
1615.271	1-1" PVC CONDUITS CONCRETE ENCASED	LF	150	\$75.00	\$11,250.00	\$209.00	\$31,350.00	\$134.00	\$20,100.00
1619.204	2" RIGID STEEL CONDUIT	LF	280	\$116.51	\$32,622.80	\$200.00	\$56,000.00	\$83.49	\$23,377.20
1622.025	HANDHOLE - TYPE A	EA	40	\$1,867.05	\$74,682.00	\$4,769.00	\$190,760.00	\$2,901.95	\$116,078.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Contract N19CN01

1160

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder: Firm Name:

Barletta Heavy Division, Inc.

				E	ngineer	E	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1622.026	HANDHOLE - TYPE B	EA	20	\$3,740.00	\$74,800.00	\$6,942.00	\$138,840.00	\$3,202.00	\$64,040.00
1651.129	TRAFFIC SIGNALS	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
1651.140	SIGNALIZED PEDESTRIAN CROSSING- RRFB	EA	9	\$25,435.55	\$228,919.95	\$114,000.00	\$1,026,000.00	\$88,564.45	\$797,080.05
1651.144	SIGNALIZED PEDESTRIAN CROSSING- LED EDGE LIT FLASHING SIGN	EA	12	\$33,175.50	\$398,106.00	\$14,597.00	\$175,164.00	(\$18,578.50)	(\$222,942.00)
1651.148	SIGNALIZED PEDESTRIAN CROSSING - RRFB - SOLAR	EA	9	\$33,175.44	\$298,578.96	\$22,000.00	\$198,000.00	(\$11,175.44)	(\$100,578.96)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base I	Bid:	\$9,999,538.83		\$12,430,428.36		\$2,430,889.53
	Contract Total - Ba	se Bid	Contract Total - Base Bid and Alternates:						\$2,430,889.53

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Bidder:

4060

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

Firm Name: AECOM TECHNICAL SERVICES INC.

MA

				Eng	jineer	Bio	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.133	PROJECT OFFICE	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.436	ELECTRIC COMPANY	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0170.101	MOBILIZATION	FP	1	\$264,292.36	\$264,292.36	\$264,292.36	\$264,292.36	\$0.00	\$0.00
0211.013	REMOVAL AND DISPOSAL OF ASPHALT PAVEMENT AT PLATFORM AND SIDEWALK LOCATIONS	SY	40	\$113.92	\$4,556.80	\$950.00	\$38,000.00	\$836.08	\$33,443.20
0211.430	UTILITY STRUCTURE ADJUSTED	EA	16	\$1,130.50	\$18,088.00	\$2,350.00	\$37,600.00	\$1,219.50	\$19,512.00
0211.495	SITE UTILITIES	AN	1	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$0.00	\$0.00
0211.610	PEDESTRIAN RAMP	SY	500	\$234.20	\$117,100.00	\$850.00	\$425,000.00	\$615.80	\$307,900.00
0212.147	TRANSPORTATION & DISPOSAL OF HAZARDOUS MATERIALS	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder:

4060

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

Mackay Construction Services, Inc.

				Engi	neer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0216.120	1.5" PAVEMENT MILLING	SY	3,850	\$23.44	\$90,244.00	\$39.00	\$150,150.00	\$15.56	\$59,906.00
0221.052	SILT SACK	EA	80	\$248.82	\$19,905.60	\$325.00	\$26,000.00	\$76.18	\$6,094.40
0222.003	UNCLASSIFIED EXCAVATION	CY	800	\$105.99	\$84,792.00	\$225.00	\$180,000.00	\$119.01	\$95,208.00
0222.442	TEST PITS	CY	200	\$252.32	\$50,464.00	\$1,950.00	\$390,000.00	\$1,697.68	\$339,536.00
0222.501	ORDINARY BORROW	CY	60	\$38.96	\$2,337.60	\$65.00	\$3,900.00	\$26.04	\$1,562.40
0222.504	GRAVEL BORROW	CY	340	\$116.62	\$39,650.80	\$250.00	\$85,000.00	\$133.38	\$45,349.20
0222.522	PRECAST DRAIN MANHOLE	EA	8	\$5,105.12	\$40,840.96	\$15,950.00	\$127,600.00	\$10,844.88	\$86,759.04
0222.530	CATCH BASIN OR MANHOLE CHANGE IN TYPE	EA	8	\$1,639.62	\$13,116.96	\$4,500.00	\$36,000.00	\$2,860.38	\$22,883.04
0222.531	CATCH BASIN OR MANHOLE REMODELED	EA	8	\$1,640.25	\$13,122.00	\$3,250.00	\$26,000.00	\$1,609.75	\$12,878.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Bidder:

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide,

4060

Firm Name: AECOM TECHNICAL SERVICES INC.

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.542	FRAMES AND GRATES OR COVERS REMOVE AND RESET	EA	16	\$964.62	\$15,433.92	\$1,950.00	\$31,200.00	\$985.38	\$15,766.08
0222.550	LOAM BORROW	CY	80	\$127.18	\$10,174.40	\$195.00	\$15,600.00	\$67.82	\$5,425.60
0222.628	CRUSHED STONE	CY	100	\$74.17	\$7,417.00	\$195.00	\$19,500.00	\$120.83	\$12,083.00
0227.010	FLOWABLE FILL	CY	140	\$241.47	\$33,805.80	\$450.00	\$63,000.00	\$208.53	\$29,194.20
0234.195	BOLLARDS	EA	92	\$1,981.11	\$182,262.12	\$1,850.00	\$170,200.00	(\$131.11)	(\$12,062.12)
0242.141	RETAINING WALL - A	SF	132	\$388.43	\$51,272.76	\$455.00	\$60,060.00	\$66.57	\$8,787.24
0250.001	CLEANING DRAINAGE STRUCTURES	EA	48	\$1,006.72	\$48,322.56	\$950.00	\$45,600.00	(\$56.72)	(\$2,722.56)
0250.100	CATCH BASINS	EA	12	\$3,202.83	\$38,433.96	\$17,500.00	\$210,000.00	\$14,297.17	\$171,566.04
0250.985	DRAIN INLET	EA	8	\$2,022.62	\$16,180.96	\$8,500.00	\$68,000.00	\$6,477.38	\$51,819.04

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

Mackay Construction Services, Inc.

				Eng	ineer	Bio	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0251.776	16" DUCTILE IRON PIPE	LF	6	\$247.00	\$1,482.00	\$900.00	\$5,400.00	\$653.00	\$3,918.00
0255.100	MANHOLES MUNICIPAL STANDARD	EA	12	\$4,062.75	\$48,753.00	\$19,500.00	\$234,000.00	\$15,437.25	\$185,247.00
0261.115	SAW CUTTING BITUMINOUS CONCRETE	LF	3,000	\$8.46	\$25,380.00	\$15.00	\$45,000.00	\$6.54	\$19,620.00
0261.120	SAW CUTTING CEMENT CONCRETE	LF	4,500	\$7.17	\$32,265.00	\$20.00	\$90,000.00	\$12.83	\$57,735.00
0261.180	BITUMINOUS CONCRETE PAVING-BUSWAY	TN	450	\$339.45	\$152,752.50	\$395.00	\$177,750.00	\$55.55	\$24,997.50
0261.192	CLASS I, BITUMINOUS CONCRETE PAVEMENT TYPE I-1 TOP COURSE	TN	80	\$341.52	\$27,321.60	\$395.00	\$31,600.00	\$53.48	\$4,278.40
0261.196	CLASS I BITUMINOUS CONCRETE PAVEMENT TYPE I-1 LEVELING COURSE	TN	40	\$251.57	\$10,062.80	\$395.00	\$15,800.00	\$143.43	\$5,737.20
0261.197	CLASS I, BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 BINDER COURSE	TN	200	\$268.20	\$53,640.00	\$395.00	\$79,000.00	\$126.80	\$25,360.00
0261.204	CLASS I BITUMINOUS CONCRETE PAVEMENT, TYPE I-1 TOP COURSE - HAND OPERATION	TN	30	\$499.80	\$14,994.00	\$595.00	\$17,850.00	\$95.20	\$2,856.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01 Readvertisement of On-Call Bus Projects, Systemwide,

Bidder:

4060

MA Firm Name: AECOM TECHNICAL SERVICES INC. Mackay Construction Services, Inc. Firm Name:

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0261.331	BITUMEN FOR TACK	GL	180	\$16.18	\$2,912.40	\$15.00	\$2,700.00	(\$1.18)	(\$212.40)
0262.180	GRANITE CURB STRAIGHT	LF	2,000	\$99.35	\$198,700.00	\$175.00	\$350,000.00	\$75.65	\$151,300.00
0262.185	GRANITE CURB CURVED	LF	1,400	\$119.01	\$166,614.00	\$195.00	\$273,000.00	\$75.99	\$106,386.00
0262.701	CURBING - REMOVE AND RESET	LF	600	\$58.83	\$35,298.00	\$165.00	\$99,000.00	\$106.17	\$63,702.00
0262.702	CURBING - REMOVE AND STACK	LF	200	\$15.53	\$3,106.00	\$15.00	\$3,000.00	(\$0.53)	(\$106.00)
0262.720	CURBING - REMOVE AND DISCARD	LF	2,000	\$12.42	\$24,840.00	\$15.00	\$30,000.00	\$2.58	\$5,160.00
0263.015	CONCRETE SIDEWALK	SY	2,500	\$172.38	\$430,950.00	\$395.00	\$987,500.00	\$222.62	\$556,550.00
0263.116	TACTILE WARNING STRIP	SF	2,000	\$25.44	\$50,880.00	\$25.00	\$50,000.00	(\$0.44)	(\$880.00)
0263.118	TACTILE WARNING STRIP- CAST IRON	SF	100	\$37.01	\$3,701.00	\$225.00	\$22,500.00	\$187.99	\$18,799.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Enç	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0271.026	CHAIN LINK FENCE - REMOVE AND RESET	LF	1,500	\$22.34	\$33,510.00	\$95.00	\$142,500.00	\$72.66	\$108,990.00
0271.072	72" CHAIN LINK FENCE	LF	1,000	\$94.11	\$94,110.00	\$165.00	\$165,000.00	\$70.89	\$70,890.00
0271.110	CHAIN LINK FENCE	LF	400	\$53.71	\$21,484.00	\$165.00	\$66,000.00	\$111.29	\$44,516.00
0271.942	STEEL FENCE	LF	100	\$132.89	\$13,289.00	\$1,250.00	\$125,000.00	\$1,117.11	\$111,711.00
0282.150	SEEDING	SY	600	\$6.24	\$3,744.00	\$25.00	\$15,000.00	\$18.76	\$11,256.00
0282.407	SHREDDED BARK MULCH	CY	200	\$132.07	\$26,414.00	\$145.00	\$29,000.00	\$12.93	\$2,586.00
0284.100	TREES REMOVED - UNDER 24"	EA	12	\$1,354.91	\$16,258.92	\$2,500.00	\$30,000.00	\$1,145.09	\$13,741.08
0284.110	STUMPS REMOVED	EA	8	\$502.37	\$4,018.96	\$1,950.00	\$15,600.00	\$1,447.63	\$11,581.04
0290.999	GENERAL ALLOWANCE	AN	1	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$1,595,250.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0329.950	CAST-IN-PLACE CONCRETE	CY	375	\$1,000.00	\$375,000.00	\$1,350.00	\$506,250.00	\$350.00	\$131,250.00
0340.140	PRECAST JERSEY BARRIER	LF	200	\$187.57	\$37,514.00	\$135.00	\$27,000.00	(\$52.57)	(\$10,514.00)
0341.401	PRECAST CONCRETE PAVERS- REMOVE AND RESET	SF	4,800	\$35.00	\$168,000.00	\$105.00	\$504,000.00	\$70.00	\$336,000.00
0348.412	12" REINFORCED CONCRETE PIPE CLASS IV	LF	900	\$182.98	\$164,682.00	\$250.00	\$225,000.00	\$67.02	\$60,318.00
0348.418	18" REINFORCED CONCRETE PIPE CLASS IV	LF	480	\$198.61	\$95,332.80	\$350.00	\$168,000.00	\$151.39	\$72,667.20
0570.001	LEANING RAIL	LF	50	\$210.00	\$10,500.00	\$595.00	\$29,750.00	\$385.00	\$19,250.00
0590.198	STEEL BEAM HIGHWAY GUARD - TYPE SS	LF	200	\$60.60	\$12,120.00	\$95.00	\$19,000.00	\$34.40	\$6,880.00
0590.202	HIGHWAY GUARD STEEL BEAM TERMINAL SECTION	EA	8	\$2,948.00	\$23,584.00	\$9,500.00	\$76,000.00	\$6,552.00	\$52,416.00
1040.111	TEMPORARY PAVEMENT MARKINGS	LF	1,575	\$0.73	\$1,149.75	\$1.00	\$1,575.00	\$0.27	\$425.25

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.704	6" REFLECTORIZED YELLOW LINE	LF	2,250	\$1.17	\$2,632.50	\$6.00	\$13,500.00	\$4.83	\$10,867.50
1040.707	REFLECTORIZED WHITE LINE CROSSWALKS AND STOPS	SF	18,000	\$6.41	\$115,380.00	\$16.50	\$297,000.00	\$10.09	\$181,620.00
1040.738	4" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$1.46	\$3,285.00	\$6.00	\$13,500.00	\$4.54	\$10,215.00
1040.739	6" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	2,250	\$3.04	\$6,840.00	\$6.00	\$13,500.00	\$2.96	\$6,660.00
1040.740	12" REFLECTORIZED THERMOPLASTIC WHITE LINE	LF	31,500	\$6.42	\$202,230.00	\$13.00	\$409,500.00	\$6.58	\$207,270.00
1040.760	4" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	2,250	\$1.46	\$3,285.00	\$6.00	\$13,500.00	\$4.54	\$10,215.00
1040.765	12" REFLECTORIZED THERMOPLASTIC YELLOW LINE	LF	360	\$6.42	\$2,311.20	\$16.50	\$5,940.00	\$10.08	\$3,628.80
1040.906	COLORED PAVEMENT MARKING BUSWAY	SF	25,000	\$19.43	\$485,750.00	\$18.00	\$450,000.00	(\$1.43)	(\$35,750.00)
1040.907	COLORED PAVEMENT MARKING BIKELANE	SF	2,250	\$7.23	\$16,267.50	\$20.00	\$45,000.00	\$12.77	\$28,732.50

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

Firm Name:

Mackay Construction Services, Inc.

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1040.912	PAVEMENT ARROWS	SF	225	\$29.71	\$6,684.75	\$25.00	\$5,625.00	(\$4.71)	(\$1,059.75)
1040.920	PAVEMENT MARKING REMOVAL	SF	6,750	\$7.30	\$49,275.00	\$3.00	\$20,250.00	(\$4.30)	(\$29,025.00)
1040.940	REFLECTORIZED FLEXIBLE DELINEATOR POST	EA	135	\$97.27	\$13,131.45	\$450.00	\$60,750.00	\$352.73	\$47,618.55
1041.001	VINYL SIGN PANEL	SF	150	\$75.00	\$11,250.00	\$35.00	\$5,250.00	(\$40.00)	(\$6,000.00)
1041.120	BUS STOP SIGNS AND ATTACHMENT HARDWARE	EA	1,000	\$222.19	\$222,190.00	\$155.00	\$155,000.00	(\$67.19)	(\$67,190.00)
1041.336	P-5 SIGN SUPPORT	EA	1,000	\$121.98	\$121,980.00	\$250.00	\$250,000.00	\$128.02	\$128,020.00
1041.640	WARNING AND REGULATORY SIGNS (PERMANENT)	SF	3,375	\$16.23	\$54,776.25	\$28.00	\$94,500.00	\$11.77	\$39,723.75
1041.801	TEMPORARY ILLUMINATION FOR NIGHT TIME WORK	UN	150	\$110.00	\$16,500.00	\$250.00	\$37,500.00	\$140.00	\$21,000.00
1042.002	ALUMINUM SIGNS	SF	950	\$30.00	\$28,500.00	\$29.00	\$27,550.00	(\$1.00)	(\$950.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide, MA

Bidder: Firm Name:

4060 Mackay Construction Services, Inc.

Firm Name: AECOM TECHNICAL SERVICES INC.

				Eng	jineer	Bio	dder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.016	POLE MOUNTED TRANSIT AUTHORITY	ſ EA	3	\$3,500.00	\$10,500.00	\$350.00	\$1,050.00	(\$3,150.00)	(\$9,450.00)
1042.019	SYMBOL TACTILE/ BRAILLE SIGNS	EA	15	\$108.00	\$1,620.00	\$450.00	\$6,750.00	\$342.00	\$5,130.00
1042.023	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DY	160	\$10.00	\$1,600.00	\$850.00	\$136,000.00	\$840.00	\$134,400.00
1042.026	TEMPORARY BARRIER (TL-2)	FT	400	\$72.00	\$28,800.00	\$95.00	\$38,000.00	\$23.00	\$9,200.00
1042.027	PORTABLE CHANGEABLE MESSAGE SIGN	DY	180	\$45.00	\$8,100.00	\$65.00	\$11,700.00	\$20.00	\$3,600.00
1042.052	PORTABLE BARRIER - TYPE III	EA	20	\$180.00	\$3,600.00	\$350.00	\$7,000.00	\$170.00	\$3,400.00
1042.056	SPECIAL LIGHTING UNIT (FLASHING ARROW)	DY	200	\$25.00	\$5,000.00	\$35.00	\$7,000.00	\$10.00	\$2,000.00
1042.061	REFLECTORIZED DRUM	DD	2,650	\$1.25	\$3,312.50	\$1.00	\$2,650.00	(\$0.25)	(\$662.50)
1042.063	REFLECTORIZED DRUM FLASHER - TYPE A	DD	550	\$2.50	\$1,375.00	\$5.00	\$2,750.00	\$2.50	\$1,375.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Contract N19CN01

Readvertisement of On-Call Bus Projects, Systemwide, MA

Bidder: 4060

				Eng	ineer	Bi	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1042.100	SIGNS - REMOVE AND RESET	EA	450	\$159.63	\$71,833.50	\$350.00	\$157,500.00	\$190.37	\$85,666.50
1042.110	SIGNS - REMOVE AND STACK	EA	450	\$61.47	\$27,661.50	\$150.00	\$67,500.00	\$88.53	\$39,838.50
1042.240	SAFETY SIGNAGE FOR CONSTRUCTION OPERATIONS	SF	800	\$30.00	\$24,000.00	\$35.00	\$28,000.00	\$5.00	\$4,000.00
1050.215	BENCHES - REMOVE AND RESET	EA	20	\$872.00	\$17,440.00	\$950.00	\$19,000.00	\$78.00	\$1,560.00
1050.270	BENCHES - EXTERIOR	EA	40	\$1,249.05	\$49,962.00	\$3,500.00	\$140,000.00	\$2,250.95	\$90,038.00
1076.022	BUS PASSENGER SHELTER	EA	25	\$10,672.56	\$266,814.00	\$47,950.00	\$1,198,750.00	\$37,277.44	\$931,936.00
1076.027	SHELTER - FURNISH AND INSTALL	EA	25	\$30,000.00	\$750,000.00	\$62,500.00	\$1,562,500.00	\$32,500.00	\$812,500.00
1098.020	TRASH RECEPTACLE	EA	40	\$734.57	\$29,382.80	\$3,500.00	\$140,000.00	\$2,765.43	\$110,617.20
1112.000	BICYCLE RACK	EA	40	\$1,068.77	\$42,750.80	\$2,500.00	\$100,000.00	\$1,431.23	\$57,249.20

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Readvertisement of On-Call Bus Projects, Systemwide,

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

				Eng	ineer	Bidder		Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1112.002	BICYCLE RACK REMOVE AND RESET	EA	16	\$697.68	\$11,162.88	\$950.00	\$15,200.00	\$252.32	\$4,037.12
1600.359	ELECTRICAL WORK	AN	1	\$285,500.00	\$285,500.00	\$285,500.00	\$285,500.00	\$0.00	\$0.00
1614.031	1" GRS EXPOSED CONDUIT	LF	317	\$29.00	\$9,193.00	\$125.00	\$39,625.00	\$96.00	\$30,432.00
1615.055	1" PVC SCHEDULE 80 CONDUIT	LF	385	\$8.00	\$3,080.00	\$195.00	\$75,075.00	\$187.00	\$71,995.00
1615.102	2" PVC SCHEDULE 80 CONDUIT	LF	280	\$91.27	\$25,555.60	\$215.00	\$60,200.00	\$123.73	\$34,644.40
1615.262	1 - 2" PVC CONDUIT CONCRETE ENCASED	LF	280	\$209.42	\$58,637.60	\$350.00	\$98,000.00	\$140.58	\$39,362.40
1615.271	1-1" PVC CONDUITS CONCRETE ENCASED	LF	150	\$75.00	\$11,250.00	\$325.00	\$48,750.00	\$250.00	\$37,500.00
1619.204	2" RIGID STEEL CONDUIT	LF	280	\$116.51	\$32,622.80	\$165.00	\$46,200.00	\$48.49	\$13,577.20
1622.025	HANDHOLE - TYPE A	EA	40	\$1,867.05	\$74,682.00	\$3,825.00	\$153,000.00	\$1,957.95	\$78,318.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

Contract N19CN01

Bidder: 4060

Firm Name: AECOM TECHNICAL SERVICES INC.

CMS-BM-003

Readvertisement of On-Call Bus Projects, Systemwide, MA

				Er	ngineer	I	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1622.026	HANDHOLE - TYPE B	EA	20	\$3,740.00	\$74,800.00	\$4,295.00	\$85,900.00	\$555.00	\$11,100.00
1651.129	TRAFFIC SIGNALS	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
1651.140	SIGNALIZED PEDESTRIAN CROSSING- RRFB	EA	9	\$25,435.55	\$228,919.95	\$43,784.00	\$394,056.00	\$18,348.45	\$165,136.05
1651.144	SIGNALIZED PEDESTRIAN CROSSING- LED EDGE LIT FLASHING SIGN	EA	12	\$33,175.50	\$398,106.00	\$29,850.00	\$358,200.00	(\$3,325.50)	(\$39,906.00)
1651.148	SIGNALIZED PEDESTRIAN CROSSING - RRFB - SOLAR	EA	9	\$33,175.44	\$298,578.96	\$25,950.00	\$233,550.00	(\$7,225.44)	(\$65,028.96)
6500.000	RISK ALLOWANCE	RA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$0.00	\$0.00
	Total Estim	ate Coi	ntract Base I	Bid:	\$9,999,538.83		\$16,803,999.36		\$6,804,460.53
	Contract Total - Ba	se Bid	and Alterna	tes:	\$9,999,538.83		\$16,803,999.36		\$6,804,460.53

Date/Time:

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Contract N19CN01

Engineer: 1043

Report ID:

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder: 4060

Firm Name: Mackay Construction Services, Inc.

	Engineer	Bidder	Variance
Total Type Basic =	\$9,999,538.83	\$16,803,999.36	(\$6,804,460.53)
Contract Total - Base Bid and Alternates:	\$9,999,538.83	\$16,803,999.36	(\$6,804,460.53)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Contract N19CN01

Engineer: 1043

CMS-BM-003

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder: 1160

Barletta Heavy Division, Inc. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$9,999,538.83	\$12,430,428.36	(\$2,430,889.53)
Contract Total - Base Bid and Alternates:	\$9,999,538.83	\$12,430,428.36	(\$2,430,889.53)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Engineer: 1043

CMS-BM-003

Contract N19CN01

Bidder: 2391

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Mccourt Construction Co. Inc Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$9,999,538.83	\$12,385,215.86	(\$2,385,677.03)
Contract Total - Base Bid and Alternates:	\$9,999,538.83	\$12,385,215.86	(\$2,385,677.03)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/04/2025

Contract N19CN01

Engineer: 1043

Firm Name: AECOM TECHNICAL SERVICES INC.

Readvertisement of On-Call Bus Projects, Systemwide,

MA

Bidder: 3670

Newport Construction Corporation Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$9,999,538.83	\$11,611,077.86	(\$1,611,539.03)
Contract Total - Base Bid and Alternates:	\$9,999,538.83	\$11,611,077.86	(\$1,611,539.03)